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GENERAL INSTRUCTIONS TO THE EXAMINEES :

1. odemef gagem 3199 Y99S R A S1fqerid: fag |

Candidate must write first his / her Roll No. on the question

paper compulsorily.
2. Wt T FA AfEE ¥
All the questions are compulsory.

3. Y% U H 3N & TS IW Y ¥ g fad |

Write the answer to each question in the given answer-book
only.

4. 57 9o ¥ ol @oes €, 59 Tt & S TS 91w g fag |

For questions having more than one part, the answers to those

parts are to be written together in continuity.
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5. T 99 o fe<l 9 TS TR | fhdt gwR &l Ffe / SR / foagramE
T W e W & A 1 g Wl A |

If there is any error / difference / contradiction in Hindi and
English versions of the question paper, the question of Hindi

version should be treated valid.

6. @WUg Prakiic) 3 Tk U9
A 1-10 1
B 11 - 15 2
C 16 — 25 3
D 26 - 30 6
Part Question Nos. Marks per question
A 1-10 1
B 11 - 15 2
C 16 — 25 3
D 26 - 30 6

7. U HHI% 2879 30 H =i fawed § |
There are internal choices in Question Nos. 28 and 30.

8. Tl IW Yfah & I3l & Ml iR fafaw | afg #E T ® & 7,
@ IW-YRaahT & 1faH T3l WM A IR 3% FoRat Al ¥ Feaht 39 W
‘T FE fam T

Write on both sides of the pages of your answer-book. If any
rough work is to be done, do it on last pages of the answer-book

and cross with slant lines and write ‘Rough Work’ on them.
9. U HHH 26 H AGIET Uh TR R FEY |

Draw the graph of Question No. 26 on graph paper.
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W - A
PART - A
T %mwww%mmm 739 <9Mole ®9 H fag |

Number 6375 is a terminating decimal or a non-terminating repeating
decimal ? Write it in decimal form.

YEsh FHIEO I 3x + 4y = 0T 2x — y = 0 1 g fAME@Y |

Write the solution of the pair of linear equations 3x + 4y = 0 and

2x -y = 0.

TR 9%l 4,1, -2, -5, ...... % T q ug fafey |
Write the next two terms of A.P. 4,1, -2, -5, ...... .
g (3, -2) &t y-2191 9 O fafaw |

Write the distance of the point ( 3, — 2 ) from y-axis.

e M (4, 5 ), @S AB %1 94 fog § qen A s fdwies (3, 4) %, @ fag

B & facernss 3@ wifsw |

If M ( 4, 5) is the mid-point of the line segment AB and co-ordinates

of A are ( 3, 4 ), then find the co-ordinates of point B.

afe T fog T ¥ O %= 9l fovdll 99 W TAT TB ¥0° W@IT WER 70° &
I W Fh! T, 91 £ AOB &l Fd HIfWT |

If tangents TA and TB from a point T to a circle with centre O are

inclined to each other at an angle of 70°, then find 2 AOB.
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7. 39 = gt ga R fReua forelt fog o vt @ &t = wife |

Construct a tangent to any point on the circle of radius 3 cm.
8. T r 9t 99 & U foroorde, formeht v oo & 0¥ 1 &9%d faf@y |

Write the area of a sector of a circle with radius r and angle with

degree measure 0.
9. 44 9 Ry It g9 H1 AABA A RIS |

Find the area of a circle whose circumference is 44 cm.

10. 3Ife frdi B SR Tk YT &1 8 HIT 1 GIiFehal %% q B gR U T
T&T T I Wiaehal J1q HiT |
If the probability of solving a problem by a student is 2 , then find the
probability of not solving the problem by the student.

WE - B
PART - B

11. U 9Hdd SHH W 2 o ST &l S & e 15 8§ | SE 999 T

TR 1 ST B TEE 5 OB, O HIAR Sl HEE J0d IS |

A boy 2 m long casts a shadow 1 m long on the plane ground. At the
same time, a tower casts a shadow 5 m long on the ground. Find the

height of the tower.
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13.

14.

15.

16.

17.

5

o cin 2
H&sine:%ﬁ,?hwaﬂmaﬁaﬁm|

sin 6

1-2sin20
sin 6

If sin 6 = % , then find the value of
cos 2 12° + cos 2 78° &I HMH J@ Shifsd |
Find the value of cos? 12° + cos 2 78°.

fq@mEu f& tan 36° tan 17° tan 54° tan 73° = 1.

Show that tan 36° tan 17° tan 54° tan 73° = 1.

o, 9 9 T® 1 eadd 27 9 3 R, 1 Weld Wworehl ol e T

G I WA T | YT T BT Y Sl A1 Sy |

Two cubes each of volume 27 cm 3 are joined end to end to form a

solid. Find the surface area of the resulting cuboid.
TE-C
PART - C
Femsl 180, 729 252 % H.C.F. 3R L.C.M. I &Y |

Find the H.C.F. and L.C.M. of the numbers 180, 72 and 252.

If fgoma &S kx 2 + 5x + 3k YIHI HI AN 396 [OHERA & R B,
Jc 1 A A IS |

If the sum of zeroes of the quadratic polynomial kx?2 + 5x + 3k is

equal to their product, find the value of k.
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18. dfc fordt A.P. % Y99 12 U8l &1 AT 468 ¥ 91 3T 9 3=<” 68, @ 10dl

g J1d HifeT |

If the sum of the first 12 terms of an A.P. is 468 and its common

difference is 6, find the 10th term.

/T +cCcosA
19. i?@ EF;“:_SIQ IED 1—cos A = cosec A + cot A.
Prove that \/ —rtcosa cosec A + cot A.
l1-cosA

20. 10¥ = Wod o ReR 9§ TH <) & RE &1 S99 S0 60° ¢ 3N 36 U
T STITHT HIT 45° % | Zel hi TS I1d hiTT |

From the top of a 10 m high building, the angle of elevation of a tower
is 60° and the angle of depression of its foot is 45°. Determine the

height of the tower.

21. & 7E 3Mpfd H T g9 & 40T TH IqHS PQRS Wiwr 0 ¥ | fag Hifau

PQ + RS =PS + QR
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In the figure, a quadrilateral PQRS is drawn to circumscribe a circle.

Prove that PQ + RS = PS + QR.

R
C
S
B
D
9
p A

22. 3 UM = &% UH g9 W 5 9H o F TH HhE g9 & foedt fog 9§ uw ot
@ F T S 3R SUh! T qifg |

Construct a tangent to a circle of radius 3 cm from a point on the
concentric circle of radius 5 cm and measure its length.

23. 3T&fd ¥ BEifRd &5 1 &A% AG HIWC, AT AB = 597, AC = 12 |4
RO FWHRI HFRE T |

Find the area of the shaded region in the figure, if AB = 5 cm,
AC = 12 cm and O is the centre of the circle.
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24. UH 9 Wi g% Uk FAHNATRR Tkl hl Teh UIEY gNIT 5 oifed Ufd Hehe o X 4
wrett foran S ¥ 1 Afe dl oA 3.5 W E, @ g fa wwm H emedt wreht
g St 2
A hemispherical tank full of water is emptied by a pipe at the rate of
5 litres per second. How much time will it take to empty half of the
tank, if it is 35 m in diameter ?

25. THUAH 30feh §, AW 19 30T* d@md sifra 8 1Ak m @A A4 &
feter argssan feprell St §, @ S9! Wifaehar 9 wiftee fow 38 fegw W sifed
gt
) o 3 A TH e
(i) T ol = He |

A box contains 30 discs which are numbered 1 to 30. If one disc is
drawn at random from the box, find the probability that it bears

(i) a two digit number

(ii) a perfect square number.

@WE - D

PART - D
26. SWIh 7 Teh <= H 65 ik 3ifeid fhE, 9 39 T&h Hal SW W 5 & el
T TIF IS SW W 2 3k H1 FHrdl &t T | A 38 F& IW W 3 3+
THeTd o1 STI§ ST W 1 3 hed, ol 3T 40 ik IS Al | 36 THE
I SISO €9 H o4 w U fafy 9 g wifNT | ¢ § fa forar gea 9 2

Ashok scored 65 marks in a test, getting 5 marks for each right
answer and losing 2 marks for each wrong answer. Had 3 marks

been awarded for each correct answer and 1 mark been deducted for
each incorrect answer, then Ashok would have scored 40 marks.
Formulate the problem algebraically and solve it graphically. How
many questions were given in the test ?
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27. T WIE & &= & 400 fRHl a0 FH ° T THUE {@el, FaR M 9
2 FeT T KA ol © | (A o WA W 3T K HHY AW H 7 W@ g )

Ife THIE et S SiEa 9re, Fard el i $i9d 9 9 10 fRH/E Afae
g, @ Sl Yermfed w1 ofed = 91 i |

An express train takes 2 hour less time than a passenger train to
travel 400 km between two stations ( without taking into consideration
the time they stop at intermediate stations ). If the average speed of
the express train is 10 km/h more than that of the passenger train,

find the average speed of the two trains.

28. MHfa # CD @R RS ®HW: A ABC 3R APQR &I wftmswn & | afg
A ABC ~ A PQR T, & fag =ifvT i

(i) AADC ~ A PSR

a SR - 4B
W RS = pPg-
C S
Q . I P
| I
A D B R
COC)

BE 3 CF U& Tua0 HYsl ABC &1 Aifeasd € e 39 e &1 107 A
gu ¥ | fag #ise % 4 ( BE2 + CF2 ) = 5 BC 2.
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In the figure, CD and RS are respectively the medians of A ABC and

A PQR. If A ABC ~ A PQR, prove that

i) AADC ~APSR

i EP - AB
W RS = pPg-
C S
Q . I P
! |
A D B R
OR

BE and CF are medians of a triangle ABC right angled at A. Prove that

4(BE2+CF2) = 5BC2

29. figeli P(-3, 4) 3R Q (4, 5) F e a W & gAAMEG FH
Tt fagedl & e 9| ey |

Find the co-ordinate of the points of trisection of the line segment

joining the points P (-3, 4)and Q (4, 5).
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30. 3fe = feu U sied &1 W=gsh 28-5 T, @ x 3R y & AF A H ¢

I AT | 0 — 10 |10 — 20|20 — 30|30 - 40|40 - 50|50 — 60| FFT

ST 5 x 20 15 y 5 60

SR

Ife = fad U deA o1 71eA 50 7%, @ x 9 y o AF Ad HY

TS | 0-20 | 20-40 | 40 -60 | 60 - 80 | 80 - 100 IR

ECG 17 x 32 y 19 120

If the median of the distribution given below is 28-5, find the values

of x and y.

Class- [0 _10|10-20|20-30|30 - 40|40 - 50|50 - 60| Total

interval

Frequenc 5 X 20 15 y 5 60
q y

OR

The mean of the following frequency table is 50. Find the values of

x and y.
Class- 0-20 [20-40| 40-60 | 60 -80 | 80 - 100 [ Total
interval
Frequency 17 X 32 y 19 120
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